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ENVIRONMENTAL STUDIES
For B.A. (Henours), B.Sc. & B.Com (Honours & General)

Time 1 Hour

Full Marks 30

Important Iastructions

for Multiple Choice Question (MCQ)

* Winte Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Scrpt
Example : Such as for Faper III-A (MCQ) and HI-B (Descriptive),

Subject Code :

Subject Name :

m

A

&

B

¢ Candicdates are required to attempt all guestions (MCQ). Below each
question, four alternatives are given [ie, (A), (B), (C), (D], Only one
of these alternatives is 'CORRECT ansvwer. The candidate has to wote
the Correct Altemative [La (ANEBNC)ND)] against each Question No.
in the Answer Script.

Example — If alternative & af 1 1= correct. the write :

1. — A

* There 15 1o negative marking for Wrong answer.
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Each guestion cames 2 marks

1. The pollutant responsible for creating Ozone hols 15 —
(&) O,
(B) 50,
{(C) CEC
(D) None of the above

b I R TR e O XA —
(4) O,
®) S0,
{C) CEC

2. The lowest laver of atmosphere 15 —
(A) Tonosphers
(B) Troposphers
(€) Stratosphers
(D] Naonie

L) EEeeE nE e —
(AY STEiw-wEE
(B) AT
(C) mrees
(D) &= e
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Enxvs

3. Hichest percemtase of gas found m ars —
(A) Nuozen
(B) Oxyzen
(C) Carbondicxide
D) Arzon

L) 0 ST S s WA R Hem T T T —
(A) vEISE"

(B) ===
(C) =f=mea=s
(D) =f=

4 ‘Ran Water Harvestngs® maans —
(A) And r2m
iB) Conseniation of mam water
(C) Water of desp rubsuvezll
(D) Imgation water

5 Which one of the following 1s NOT a viral disease?
(a) COVID-19
(B) Chickenpox
(C) Malana
(D) Dengue
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2| VST (F TR AT e —
(A) TE=—t%
(B) Br==
(€) soT=E

5. In which vear the Indian Govt mplementad Wild Life Protection Act?
(A) 1972
B) 1582
(C) 1585
(D) 1992

¥ | (W SET TR TETE TR WIEES WiEe 2t oEe s
(A) ey

(B) v

7. Whick one of the following districts of West Benzal 1s associated with the
conservaten of Red Panda?
(A) Malda
(B} Daneshng
(C) Midnapore
(D) Burdwan

& | ARG WHTRT A S (RS A HOE gE
(A) W
(B) Wi
(€) miees

— — — — — — — — — —— — i — | — i — —" — — — —— — i — | — — — i ot s



Enxvs

8. Earth day 1= celebrated on—
(A) 5th Juns
(B) 12th May
(€Y 22nd Apnl
(D) 25th Mav
v T R AT T —
(A) &
B) T =
(C) waod SfEE

3 = - I
(D) 2™ =

=T

[

gl

"

9. Acdity m rain 15 measured by —
(A) Barometer
(B) Hygrometer
(C) Pyromster
(D) pH Mater

5| THE TWEE SR = WE U g —
(A) Traees
(B) =E=iGE
(C) sEta e
@) pH FomE

10. ‘Red Data Book' 15 published by —
(A) IOEN
(B) UNESCO
(Cy WHO
(D) WWF
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o | E (ST o T —
(A) TUCNW
(B) UNESCO
(€) WHO

11 Pollen can cause —
(A) Tvphod
(B) Malana
(€) Allemy
(D) Chelerz

S| R M —
(A) TEFEs
(B) sm==e!
(€) ===

12. Which one of the followmg s used to generate atomuc power?
(A} Coal
(B} Copper
(C) Bamute
(D) Urmiom
(AY =51
(B} =1
(C) ==0
(D) T=mvEm



Enxvs

13. Which one of the followmz s NOT a manne polhutam?
(A) o
(B) Plasnc
(C) Thermmocol
(D) Dissolved Oxygen
(A) ==t
(B) 1o
(C) wmafm=
(D) FarET TEEw

14 Chemoby| disaster 12 2 —
(A) Nuclear accident
(B) MNatural disaster
(C) Pandemuc
(D) None of the above
v8 | e T g% —
(&) wmrE T

(B) Z= o
(€) =T

15. Which ane of the following iz a biodversity hotspot in Tndia?
(A) Westem Ghat
(B} Kanha
(C) G
(D) Karziranza
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S¢S D A % SRISeE TevAs
(4) #Esaw =5
B) =7

(€)==

16 Which one of the following 15 3 pnmary consumer”
(A) Deer
(B) Frog
(C) Snake
(D) Ezgle
S| TEENT e S ST et
(A) T2
(B) =T

(C) wef

17 Photochemical smog 15 related with —
(A) Ulbtravinlet ray
(B Notsz pollunon
(C) Eutrophicanon
(D) Rain water harvesting

24 | TWEF FRE T HA U8 T s —
(4) =TEmea =90
(B) wrm=s
(C) T
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18 Man and Biosphere programme (MAB) 15 sponsorad by —
(A) CSIR
(B) ICMR
(C) WHO
(D) UNESCO
| Man and Biosphere grogramme (MAB) &5 T FROTHRRRTT T —
(A) CSIR
(B) ICMR.
(C) WHO
(D) UNESCO

19. Scurvy may be cansed by the deficiency of —
(A) Vitamm K
(B) Viamm C
(C) Viamun D
(D) Viamm E
S| WS T AE TW WO —
(4) 5w K

(B) = C
(C) == D

(D) == E

20. Non-comventional enerov soure 15 —
{A) Solar power
(B) Coal
(C) Wasd
(D) Petrolenm
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30 | TEhT s T = —
(A) o=
(B) ===
(C) =z
(D) cocgieE™

21 Essemnal trace slememt for human bodviis —
(A) Tron
(B) Faliz Acnd
(C) Zme
(D) Calemm

I | TINE OUES o) Saa OF SYe 5E —
(A) =1
(B) e A
(c) Fo=

22 Whech one of the following i found m emussion of motor vehicles?
(A} Mercury
(Bl Lead
(C) Ceopper
©) Ansestic

28| WET GO T e ST fhew Ty
(A) wEw
(B) T
(€) =
(D) ==



s
23 Which cne of the following 1532 decomposer th an Ecosvstem?
(A) Green plamt
(B) Fishes
(C) Badenz

(D) Camrvorss

(4) 75z B
B) ==

iEJ k1 ""E'JE:E

e - e e e S S - el e — e e - - g e S e

24 Example of a tropical ram forest 1 Thdia 15 —
(4) Sunderban
(B} Western Ghat
(€) Beth of the abovs
(D) None of the above

22| TETE O T TR o T —
(A Fe=aw
(B) #if%s= =0
(€) TAEE T oz

(D) B9ms ST e vE

—— e — — — — — S— — — —— — — — — o — — i S i}, . Sl ol V. . . i
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23 Mees' lmes are related with —
(A) Calomim dehicsency
(B) Vitamm € deficiency
(C) Iron deficiency
(D) Arsenic poliution
W RE TR TR AT AT —

e - e e e S S - el e — e e - - g e S e
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